DİL EDİNİMİ DENEME SINAVI

1) In which part of the developmental sequence do children produce sentences that have clear meanings even though lack of grammatical morphemes?
a) at 12 months
b) by the age of three-and-a-half or four years
c) by the age of two years
d) by the age of five years

2) What can we say according to the wug test, which include the plural and past forms;made bye jean berko gleason?
a) children can genelarize their preceding knowledge 
b) ıt shows us that language is full of memorized word pairs.
c) Environment is very important for language learing of children
d) Children actually know the rules for formation of plural and past forms,not a list of memorized words.

3) what is the benefit of metalinguistic awareness?
a) it helps us about threating the language as an object, seperate from the meaning it conveys. 
b) it useful for us, because it makes the meaning itself more explicit.
c) It helps us about explaining the language with its meaning.
d) In fact; ıt has no benefit

4) when does metalinguistic awareness develops rapidly?
a) ın the pre-school years.
b) when children begin to learn reading.
c) bye the age of five
d) bye the age of three

5) what do you say about the man who lost hıs mother tonque before learning L2 well?
a) simultaneous bilingual
b) subtractive bilingual
e) sequential bilingual
d) in fact; he is monolingual.

6) In the answers; there are children who learn some grammatical morphemes so; which of the children below is the youngest?
a) A child who starts using possessive s
b) A child who starts using auxliary
c) A child who starts using regularpasted
d) A child who starts using articles

7) which of the learners belove is the yongest?
a) A child who give question meaning with intonation.
b) A child who use all the forms well except wh- usage in subordinate clauses
c) A child who use auxilary verbs at the begining of the sentences.
d) A child who can produce this sentence why you dont have one

8) what is/are source language acquisition according to the behaviourist positions?
a) only environment
b) environment, habit formation
c) only child
d) all of them

9) do you think behaviorism is enough to explaining first language acquisition?
a) Yes, imitation, practise helps children to understand and produce language, so behaviourist position explain first language explicity and enough.
b) No, ıt cant explain how more complex structures are learned, so although ıt tells us learning stages of easy structures, children can produce the utterences they have never heard before.

10) which is the least important for behaviourist position?
a) environment
b) child
c) creavity
d) imitation

11) who is the most important supporter of behaviourist position?
a) piaget
b) vygotsky
c) bruner
d) none of them

12) who is the most important supporter of innatist position?
a) piaget
b) lenneberg
c) bruner
d) chomsky

13) according to the innatist position; what can be said in general?

a) children are biolagically programmed for language
b) children acquire the language by interacting with others
c) children acquire the language by imitating and practicing
d) none of them

14) which of the ideas stated below may make us understand that innatist position is beter on explaining first language acquisition?
a) behaviourist position cant explain complex structure learning.
b) The language children hear around them does not provide all the information children need
c) The language acquisition just can not be explained with habit formation.children&#8217; metacognitive awereness is also important.
d) None of them

15) what does roger brown&#8217;s study about lang. Acqu. Refer to ?
a) all children learn language at same rate 
b) all children learn grammatical morphemes in same order
c) children dont learn all the grammatical morphemes
d) children learn grammatical morphemes at same time

16) what do we call the study that is made with same children and without time limit?
a) longitudinal study 
b) cross-sectional study
c) universal grammar study
d) behaviourist model study

17) which child is the yongest?

a) A child who use right forms of do is can in the negotion sentences
b) A child who use no in the middle of the sentence
c) A child who use dont cant in the negotion sentences
d) A child who use no begining of the sentence

18) what is LAD(language acquisition device)?
a) its an imaginery black box ih the brain that contain universal language principles
b) it is an ability that help children to imitate sounds
c) it si a black box in the brain that contain children mother tonque principles
d) a&b

19) what does eric lenneberg support in critical period?
a) there is a specific time to expose to language 
b) children cant learn language, ıf they arent exposed language in specific time in their childhood.
c) If children are exposed to language for a long time 
d) A-b-c-

20)for the LAD to work the children needs Access only to samples or a natural language, so in order to Access to language; what should children do ?
a) communicate with others
b) dont communicate
c) try to Access by himself
d) a-c

21) which one is the characteristic of child-directed speech?

a) ıt should be slow in order to be understandable by child
b) it contains a lot of repetition
c) adults use easy structures
d) all of them



22) what is the importance of child-directed speech ıf we thınk piagets view?
a) C-D Speech is a trigger that fires the production

b) It makes children understand and oiscover language
c) A&b
d) Cognitive development is very important because language is not the production of speaker,language is what children understand.
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